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Incorrect: Neither Peter nor John were present.
Correct: Neither Peter nor John was present.

Two singular nouns connected by or or nor should be followed by a singular verb.

Incorrect: Neither the lecturers nor the principal were present at the meeting.
Correct: Neither the principal nor the lecturers were present at the meeting.

When two subjects connected by or or nor are of different numbers, the plural subject should be
written last and it should be followed by a plural verb.

Incorrect: Neither I nor he has money to buy that watch.
Correct: Neither he nor I have money to buy that watch.

Incorrect: Neither James nor you seem to be capable of doing that.
Correct: Neither you nor James seems to be capable of doing that.

When the subjects connected by or or nor are of different persons, the verb should agree in person
with the subject nearest to it. The subjects should be arranged in the proper order – the person
spoken to, first; the person spoken of, second; and the speaker, last).

Incorrect: A committee were appointed to study the question.
Correct: A committee was appointed to study the question.

Incorrect: The jury was divided in its opinion.
Correct: The jury were divided in their opinion.

Group nouns (e.g. committee, jury, army, team, family etc.) are followed by singular verbs when the
group is thought of as a single unit. But when individual members of the group are thought of, the
plural verb is used.
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